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Easy
	1
	Jane bought 600 g of meat.  She cooked 2/5 of it.  How much meat did she cook?
Ans: Jane cooked 240 g of meat.

	2
	Marilyn spent 2/5 of her money on a storybook and 1/3 of the remainder on a bag. She spent a total of $36. How much money had she left?
Ans: She had $24 left.

	3
	Aiming packed flour into one big bag and 8 small bags of the same size.  The big bag contained 5/9 of the flour.  If each small bag contained 3 kg of flour, how many kilograms of flour did Aiming have at first? 

Ans: Aiming had 54 kg of flour at first.

	4
	64 children attended a leadership camp.  5/8 of them were girls.  How many more girls than boys were there? 

Ans: There were 16 more girls than boys.

	5
	4/7 of a group of children are boys.  If there are 18 more boys than girls, how many children are there altogether? 

Ans: There are 126 children altogether.

	6
	Andy, Benson and Caleb have a total of 700 marbles.  Andy has 1/3 as many marbles as Benson.  Benson has 77 less marbles than Caleb.  How many marbles does Caleb have? 

Ans: Caleb has 344 marbles.

	7
	There is a tin of blue marbles on a table. Terry removed 2/5 of the blue marbles and put in 12 red marbles. Now the tin has a total of 45 marbles. How many blue marbles were there in the tin at first? 

Ans: There were 55 blue marbles in the tin at first.

	8
	Alex spent 1/3 of his pocket money on a toy helicopter and 2/3 of the remainder on a toy boat.  He had $20 left.  How much did he spend altogether? 

Ans: He spent $70 altogether.


Average

	1
	Anizah had $160 at first.  She then spent 3/8 of her money at the supermarket and 1/4 of it at the hair salon.  How much money had she left? 

Ans: She had $60 left.

	2
	Norman spent all his money on a pair of trousers and a shirt.  He spent 2/5 of it on the shirt.  He paid 
$27 for the pair of trousers.  How much did Norman pay for the shirt?
Ans: Norman paid $18 for the shirt.

	3
	There are 64 students in a bus.   1/4 of the students wear spectacles.  1/4 of those who wear spectacles are boys.  How many girls in the bus wear spectacles? 

Ans: 12 girls wear spectacles in the bus.

	4
	5/7 of the members in a dance club are girls while the rest are boys.  There are 18 more girls than boys in the dance club.  How many members are there in the dance club? 

Ans: There are 42 members in the dance club.

	5
	A basket 1/2 full of grapes has a mass of 800 g.  The same basket full of grapes has a mass of 1300 g.  What is the mass of the empty basket? 

Ans: The mass of the empty basket is 300 g.

	6
	3/4 of Peter`s savings is equal to 1/2 of Mary`s savings. If Peter` savings is $28, how much is Mary`s savings? 
Ans: Mary`s savings is $42.

	7
	Emi keeps goldfish, guppies and angelfish in her aquarium.  1/4 of the fish are goldfish, 5/12 are guppies and the rest are angelfish.  If she has 12 angelfish, how many fish does she have altogether? 

Ans: Emi has 36 fish altogether.

	8
	Ali, Ben and Coe shared some seashells.  Ali received 1/6 of the seashells.  Ben received 1/2 of the seashells and the rest was taken by Coe.  Coe received 178 seashells.  How many more seashells did Ben have than Coe? 

Ans: Ben had 89 more seashells than Coe.


Challenging

	1
	Cathy had $204. She kept 1/3 of it and divided the rest equally among her 4 brothers. How much money did each brother receive?
Ans: Each brother received $34. 

	2
	George had 36 story books.  He sold 1/4 of them on Saturday and 1/3 of them on Sunday.  How many story books did he sell altogether? 

Ans: George sold 21 story books altogether.

	3
	Mr Lin spent 1/2 of his money on a camera and another 1/8 of it on a radio.  If he spent $200 altogether, how much money did he have at first? 

Ans: He had $320 at first.

	4
	Mr Bala had $600.  He spent 3/5 of on food and 3/4 of the remainder on clothing.  How much did he spend in all? 

Ans: He spent $540 in all.

	5
	Ailin travelled 1/3 of a journey by bus, 2/3 of the remaining journey by bicycle and the final 4 km on foot.  How far did Ailin cycle? (6km) 

Ans: Ailin cycled 8 km.

	6
	Rosa gave 1/4 of her money to her daughter and divided the remainder equally between her 2 sons.  Each son received $240.  How much money did her daughter receive? ($160) 

Ans: Her daughter received $160.

	7
	Rama bought a basket of 48 durians.  He threw away 3/8 of them as they were rotten.  If he sold the remaining durians at 3 for $10, how much did he collect from the sale of the durians? 

Ans: Rama collected $100 from the sale of the durians.

	8
	Puspha baked some pastries.  3/5 of the pastries were muffins. The rest were tarts and cream puffs. She baked twice as many muffins as tarts. There were 20 more tarts than cream puffs. How many pastries did Puspha bake altogether?
Ans: Puspha baked 100 pastries altogether.
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